Section 4.8 (p.396) – Solutions #1-4
1. y = 4 – x2  Did you see the upside-down parabola, shifted up 4? ___  Do you now? ___ 



 Did you see the ‘difference of 2 squares’? ___  Do you know the roots? ___

    

 Do you know how to size the window of your calculator? ___ 

Can you (1) use the yellow 
[image: image1.wmf]CALC

 button to find the integral (here area)? ___ 

Can you (2) use a pencil to find the definite integral? ____

If not, check this out: 
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Hey, isn’t this an even function? ____  If so, then isn’t it easier to find: 
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2. y = x2 – 2x + 3 (between x = -2 and x = 1)   Did you notice b2 – 4ac < 0 ? ___ 
Can you (1) use the 
[image: image7.wmf]MATH

 button to find the definite integral? ___ If not, see above.

Can you (2) use pencil & paper to find the definite integral (area also in this case)? ___

If not, check out this line of work:  
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3. y = 4x – x2 (I was already getting the zeroes, x = 0 & x = 4 from the factoring x(4 – x)…)

Wait! They want to integrate from x = 1 to x = 3. At least I know how to size the window!

I’m liking the 
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 button better than the 
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 button… Nice picture!  (
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4. y = 6 – x – x2  = 
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 Did you see the factorization? ___ 

   Did you see the ‘concave down’ aspect of this parabola? ___  Using 
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 (see above)

   Here’s the analytic (and exact) solution: 
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